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QUESTION 1

You are implementing JetClone into a customer\\'s existing Hitachi NAS platform. Which three elements are required?
(Choose three.) 

A. NAS v8 CLI 

B. iSCSI volumes 

C. WFS-2 file system 

D. additional licensing 

E. Hitachi NAS G2 hardware 

Correct Answer: ACD 

 

QUESTION 2

Your customer is interested in using thin provisioning at the file system level and wants to know how the auto-expansion
function works on the Hitachi NAS Platform. Which two statements are true? (Choose two.) 

A. A storage pool will automatically expand reaching the high watermark. 

B. A thin file system will allocate space as needed until the maximum size is reached. 

C. A thin file system will automatically expand to 10% beyond the high watermark. 

D. A thin file system can be created with a larger maximum size than the storage pool size. 

Correct Answer: BD 

 

QUESTION 3

A customer has 28 independent file servers with various amounts of data on each server and they would like to
consolidate with a Hitachi NAS Platform. Which three factors must be considered prior to the consolidation? (Choose
three.) 

A. number of concurrent users 

B. type of applications and specific purpose of each application server 

C. server BIOS version 

D. number of mount points and shares 

E. number of concurrent HTTP instances 

Correct Answer: ABD 
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QUESTION 4

Your customer is planning a disaster recovery site and they need to know the form factors of the Hitachi NAS Platform
models for physical planning purposes. Which two statements are correct ? (Choose two.) 

A. The 3090 fits into a 19 inch rack and is 3 rack units high. 

B. The 3080 fits into a 19 inch rack and is 2 rack units high. 

C. The 3200 fits into a 19 inch rack and is 4 rack units high. 

D. The 3090 and 3100 fit into a 19 inch rack and are of the same height. 

Correct Answer: AC 

 

QUESTION 5

A customer with a Hitachi NAS Platform connected to a production Hitachi USP V requires a Recovery Point Objective
(RPO) of 20 minutes or less for their replicated data. Each of their four file systems has a minimum of 20 TB of data and
50 million files. Each file system has a heavy change rate. Which three replication products meet the customer\\'s RPO?
(Choose three.) 

A. Hitachi Universal Replicator 

B. TrueCopy 

C. Intelligent Data Replication 

D. Incremental Block Replication 

E. ShadowImage 

Correct Answer: ABE 
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